Name ___________________________________


IB Chemistry Worksheet 1-3
1.   ___ C6H12 + ___ O2 ( ___ H2O + ___ CO2

a. Balance the equation


b. How many moles of CO2 will be produced from 5.89 moles of C6H12?


c. How many grams of O2 will react to produce 20.7 g of H2O?


d. How many molecules of H2O will be produced from 7.02 g of C6H12?


e. How many grams of CO2 are produced from 2.85 x 1022 molecules of O2?


f. What is the limiting reactant if 45.8 g of C6H12 react with 66.2 g of O2?


g. What mass of H2O should be produced from the reaction mixture in part f?


h. If the reaction actually produces 22.7 g of H2O, calculate % yield.

2.    ___ Cr + ___ NiSO4 ( ___ Cr2(SO4)3 + ___ Ni

a. Balance the equation


b. What mass of NiSO4 is needed to produce 3.98 moles of Ni?


c. How many atoms of Ni are produced from 33.2 g of NiSO4?


d. How many atoms of Cr are needed to react with 5.14 x 1024 formula units of NiSO4?


e. How many grams of Cr2(SO4)3 will be produced from 82.7 g of NiSO4 and ?


f. What is the limiting reagent if 1.08 g of Cr is mixed with 2.88 g of NiSO4?


g. What mass of Ni should be produced from the reaction mixture in part f?


h. If the reaction actually produces 0.77 g of Ni, calculate % yield.

3.     ___ N2 + ___ O2 ( ___ N2O5

a. Balance the equation.


b. How many molecules of N2O5 are produced from 25.9 g of O2?


c. What mass of N2 is required to react with 2.07 moles of O2?


d. How many moles of N2O5 are produced from 5.33 x 1022 molecules of N2?


e. What mass of N2O5 is produced from 85.2 g of O2 and 57.9 g of N2?


f. What is the limiting reactant in part e?


g. If the reaction in part e actually produces 69.0 g of N2O5, calculate % yield.
